7134/SB5/BP1’ OCTOBER 2008

ADVANCED FINANCIAL ACCOUNTING — II

(For those who joined in July 2003 and after)

Time : Three hours Maximum : 100 marks

Answer any FIVE questions choosing not more than
THREE question from Section ‘A’ or ‘B’.

All questions carry equal marks.

SECTION A

(PARTNERSHIP ACCOUNTS)

1. glnmafl  Gemgensuler  Cumipg  memodlliGeane
MSWMEHD LOCeum (papaaeT alleTsEs.

Explain the various methods of treatment of
good will on admission of a partner.

2. D eremueur 2001 wrid 31 emm @@ Hmeuarsde
Qmpg  Neo@dori.  JeumsEG unsdyedrer  Csmens
ep. 40,400 @w. bleosed Ceriiumer  UUBSLILIG
2 Lanqwns ep. 10,400 Qexss Geuanr(hibd. Gemar oi&sL 6m
@aQeumm e p. 10,000 whmid Hleyene Qgrens W
10% eulgqujLenm eperm yamhHsaiae Censs Ceusmt(Hibd.
LG SaTHS e ST (h .




D retired from a firm on March 31, 2001. The
amount due to him was Rs. 40,400. The terms of
retirement provided for payment of Rs. 10,400
immediately and there after the debt was to be
extinguished in three years by payment of Rs. 10,000
together with interest @ 10% on the outstanding
balance. Show that Loan Account.

3. 2006 wnr& 31 & 2 ememeunm ¢ Hlmeuarsdlen @)HLiL
Blenavd Gl emeu(HLOmm)

Qumrmliyser €. Cengg saar em.
X (pged 5,000 waarweaniser 8,000
Yeair apged 4,000 &s7&dlmLy 2,000
Zen (pgad 3,000 sLameflser 1,000

upu® sLabGasmm 2,000 cwndwlé Qrrssn 3,000

14,000 14,000

Gule @Al L Csduler Himeuand smassULLLg).
upue  sLeBCHTT 5% saEpLGUldD  CFSSILILL ).
waaweaigmer X @ 9000655 a®sgs OCarammr. Y
sr&dlmulleven op. 1,5008@0 Z sLameflsamer . 600&@L0
ThH5g6 Demar_ant. senoliL Qgwa] e 110 < eng, Hlmeuar
JHEeT (1plg&&6LD.
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The Balance Sheet of a firm on 31st March 2006
was as follows :

Liabilities Rs. Assets Rs.
X : capital 5,000 Furniture 8,000
Y : capital 4,000 Stock 2,000
Z : capital 3,000 Debtors 1,000
Sundry creditors 2,000 Cash at Bank 3,000
14,000 14,000

The partnership was dissolved as on the above
date. The sundry creditors were paid at a discount of
5%. X agreed to take over the furniture at Rs. 9,000;
Y the stock at Rs. 1,500 and Z the debtors at Rs. 600/-
the expenses of realisation came to Rs. 110. Close the
baoks of the firm.

4. 2006 wmig 31 <erm A, B womw C <fCwmfen
Bleneveno Glemeu(mLomm) :

Qummiliyser €. Qenggissar .
upue sLafbCasrt 6,300 Qprssid 2,500
Qeru pLL &/@G 7,000 uveeumss Qersgisar 17,000
Acst g6t 4,000 Carm pse &/@ 7,800
Acr pse &/ 6,400 '

Barr psed &/ 3,600
27,300 27,300
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@eru pULiser A 18/35, B 7/35 wpmid C 10/35 eren
urdLiu@deammer. Gula GHluEGL Cgdluled BHlimeuend
s@O&ESILLLE. Loems Qsrsgissd p. 14,0005@ Siey
Qewiul Lg. upue sLaBCHTHEE . 6,000 Qsqiss
SQUTEETG SEEE WPHOIYILTS (P ESULLLE. SeneLL
Qeswayser e 800. C Seunemearnt. (pse) SaTSHEGSET
Beowragan ees Qarar® srierm erdi. Gy Srinder
ulg. Bimieuarsslen er(H&emer (Lplg&&6,LD.

The position of A,B and C on 315t March 2006 was
as follows :

Liabilities Rs. Assets Rs.-
Sundry Creditors 6,300 Cash 2,500
Profit and Loss A/c 7,000 Sundry Assets 17,000
A : Loan 4,000 C:Capitala/c 7,800
A : Capital 6,400
B : Capital 3,600 A

27,300 27,300

Profit and losses are shared — A 18/35, B 7/35 and
C 10/35. The firm is dissolved on the above date. Sundry
Assets realise Rs. 14,000. Sundry Creditors are paid
Rs. 6,000 in full settlement. Realisation expenses
amount to Rs. 800. C is insolvent.

Assume capitals are not fixed, close the books of
the firm under Garner Vs Murray decision.

4 7134/SB5/BP1

5 XY wpmid Z »ACunt Qeoru pLLmsmar (papGu
5:32 erenp eNflgsdler LAy QamarEhD gl LTaflser.
DIGUTEET Gal L MEIDLOWSE sSmads Csdluner wris 31,

2006 siemm Steuiserg Quyblaned @olliy Gereumonmy

Qummidiyser €. QETsg)daer .
sLTBCHMT 40,000 sligLibd 40,000
X &6 10,000 Qupdlyid 30,000
(PSS &ETEHGHS6T : wenanueigear 13,700
X 50,000 7S (mLL 40,800
Y 15,000 SL_euertl & e 35,500
"Z 45,000 1,10,000

1,60,000

1,60,000

Qenggisaer Siey QeLs 2L as@GLe gl LnalléE

urglujarer  Qgrapsmw  CeQisgielg  aan  RH5SIE
QamareriiLl L g).
€.
Gw 12006 30,000
99ame 12006 73,000

Qe bur 12006 47,000

Qfsuls  BLL  qpepuild  Qrrssd  erhimeD
udlipsefssiuBEng eramumss ST(HD L L cUmeTenws

swrt ClFuws.
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X, Y and Z are partner sharing profits and losses
in the ratio of 5:3:2 respectively. The following in their
Balance Sheet on 31st March 2006 on which date they
dissolve partnership.

Liabilities Rs. Assests Rs.
Creditors 40,000 Buildings 40,000
X : Loan 10,000 Machinery 30,000
Capital Accounts : Furniture 13,700

X 50,000 Stock 40,800
Y 15,000 Debtors 35,500
Z 45,000 1,10,000

o 1,60,000 1,60,000

It was agreed to repay the amounts due to

partners as and when the assets were realised viz :

Rs.
May 1 2006 30,000
July 1 2006 73,000

September 12006 47,000

Prepare a statement showing how the cash

distribution should be made under Maximum Loss
Method.
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SECTION B
(CORPORATE ACCOUNTS)
6. =& LoeumLU®UYD YD LOMIGUELOLILILYLD
Caupu(h&8i5.

Distinguish between internal reconstruction and
external reconstruction.

7. X ABLQLL geiQeurarmid . 100 wdlliyarar 10,000
Lkigseer 6%  geT@bLiguiled Qeuefluil L g. Gsrenss

Spsaar_eunn CERISS GouanT(HLb.
. -
of ramTILSSIL 6 25
@868 _1gen Qunps) 34

wse wHmb Gnd mpude 35
9,000 LkEsEsssTan arariumsd  G@upUUL®
SDE SIDEHFID FHMIE CSTETATLILILL 6. (PG OO
And epuder Bgrar 100 LBiGse BRGSO SlDTSS)
LIGRT(LPLD nubply
QewnulLer.  Saupfle 50 um@sdT @eaubeurammid
. 90 eisd (PUEUGID Qsgsdwsrs wHGeuailiG

Qewwiul L6

QupULLLg.  SAUUBIEGSET

Bmiogglen Fghseafler GHLCULOU LSS S5
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X Ltd invited applications for 10,000 shares of
Rs. 100 each at a discount of 6% payable as follows :

Rs.
On application 25
On allotment 34

On First and final call 35

The applications received were for 9,000 shares
and all of these were accepted. All moneys due were
received except the first and final call on 100 shares
which were forfeited. Out of which 50 shares were

reissued @ Rs. 90 as fully paid. Give journal entries in
the books of the company.

8. Qumd oubs S spdlrer  eTemUGUHEL W
lwmumygeng 2005 equged 1 Gsdl s  ThSHS
Qarereugnsns 1@ seafl Himwb 2005 nOame (g CoHulad
udla) Qe Lg. 2006 wrré 31 CaHujLer (oL bs

gar(Hssrean Gereumd Geomu Bl s &/@ sunflésiulLg).

- -
sfley 2,625 Qs @emub 98,000
aSlembupLDd 5,250 eurmésLer Spou QuDDg 500
Guemairentn

@usgpiar s 9,000
Ggiomand 2,800
FLOLIETLD 18,000
8 7134/SB5/BP1

. o
PINISC) 600
Qg5 Q&6 seT 700

aurLens wpmid auffl 3,000

QUTESL 6 1,250
H&y e 54,925 -
98,500 . 98,500

(DS eNeURIGET :

(=) @9@a 20050 Qmps gynafl LTS Q.Sﬂ[.DL..IGO')GUT
agsgb@ (PpHenGW WghseTd @BHS®S Gumed @rlguuns
Bopss! |

(=) WD epem) DTHRISEHESTET  GUTLES  LOTHLD
. 200 eranp 6i5SSe Qar(H&EsIIULLg]. i L6eT IS0
e op. 50 215018 ASTHESILLS.

(@) QuITESLGT ¢ 350, 2005 Q& burm @"5@
Gadlé@ Genan Qewwtiu L eSlhuenet @g,rn_r'ru'rrm@ G-
Smibu QUL aupnésLe, 2003-1D ey e QUITSSL6T
aran SEsLLILL HLETSCT QgmLirunaig HGL0-

(/)  eflemdouT Qeeoyser  ADLMNES Coiig
Adp58 GEHET- '

sl HHouNEs5EHD&  @pem o grer  @Qarusdaens
seTHES (HS.
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Raghu Private Ltd was registered on 1%t July 2005
to take over the running business of Mr. Chandran with
effect from1st April 2005. The following profit and loss
account for the year ended 31st March 2006 was drawn

up.

Rs. Rs.
To Commission 2,625 By Gross 98,000
Profit
To Advertisement 5,250 By Bad Debts
recovered 500
To Managing
Directors
remuneration 9,000
To Depreciation 2,800
To Salaries 18,000
To Insurance 600
To Preliminary
Expenses 700
To Rent and Taxes 3,000
To Discount 350
To Bad Debt 1,250
To Net Profit 54,925
98,500 98,500

10 7134/SB5/BP1

Additional information :

(a) The average monthly turnover from dJuly
previous

9005 onwards was double than that of the
months.

(b) Rent for the first three months was paid
@ Rs. 200 per month and thereafter at a rate increased
by Rs. 50 per months.

(c) Bad debts Rs. 350 related to sales effected
after 1t September 2005 and the recovery of bad debts

was in respect of debts written off during 2003.

(d) Advertisement expenses were directly
proportionate to sales.
- Calculate profit prior to incorporation.
9. gaQeuremid €. 10 wdiyerer 25,000 GCrienLo

LBIGSmeT GsTaTL Couaern MO GLL gan Qegussts GuDD
s . 250,000 @D, QsmiFHLNs GpflL LD
STTERTLONG @UESHITD gumi GelwlulL  DHIEOLY
L SHDG B&oamid FuLsH eSS LOMIGUEMLOLILY

S sern 5755156 Qea(mHLOTD) -
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(=) um@smiser sHCUTE SjeuTser ausHSGLD
C URIEGSEREE Lders upellBrLg)

(1) sHCumg Sjeuiser eusd 2 6meT LkIGS6Ten
2/5 ukiE Wueugib degssLRAuDD YSw Chiend LkiGSseT

(ii) Cula @MUl ydw Crienw uniGsafld
20%&@® swwrs Wpaugid Ceassl Qupp 5% weraflenwo
LTI G&6IT

(1ii)3,000 6% sLerugdrmser . 10 eigid

(=) @eabeumeammid ep. 10 wdierer 5% 3,000 e

ugslmser Qeueflul Ll ( Qprésd Qupliul L g
Epsaem_eumm

GDDEHILIL

(&) Qensgissar

Gauaim@Ld

o TR: 101

(1) @wpdlypnd em. 50,0000 @Qmbg p. 37,500
&AL
(lii)sligL b e 7500080 @Qmpg ep. 62,500
SASYLD GNDESLILILL 6.
Cula @EALAL 8
GOIUCLLHL LHayser s

Sreowiiy S sdnsren
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(i) pemodiiy e. 1,50,00060 Qmba 5. 75,000

The paid up capital of Velan Ltd amounted to
Rs. 2,50,000 consisting of 25,000 equity shares of Rs. 10
each. Due to losses incurred by the company
continuously, the Directors of the company prepared a
scheme of reconstruction which was duly approved by -
the court. The clauses of reconstruction were as follows :

(@) In lieu of their present holdings, the
shareholders are to receive

(i) Fully paid new equity equal to 2/5 of
their present holding .

(ii) 5% preference shares fully paid to the
extent of 20% of the above new equity share and

(111) 3000 6% debentures of Rs. 10 each.

| (b) An issue of 3,000, 5% debentures of Rs. 10
each was made and fully subscribed in cash.

(¢) The assets were reduced as follows :
(1) Goodwill from Rs. 1,50,000 to Rs. 75,000
(i) Machinery from Rs. 50,000 to Rs. 37,500
(iii) Buildings from Rs. 75,000 to Rs. 62,500.

Give journal entries to give effect to the above
scheme of internal reconstruction.
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10. SS erap Hlmiobd sl sEeTaTTag. gLy 1, 2006
< 2Asen GHUY flows GHluy Gearaumony Q®bes

| Qenggisaer Gemeumomy Siey QewwtiulLa.

| .
Blaapb gL apn  1,20,000
QuipSrd 40,000
Fr&E (mLY 10,000
20,000

|
|
1
’ SL_emeflser

SLGIGET (Lp(PeUFID UITEHESL 6 pulldm. sepeliumari

earflwid  em. 1,000 Gepawrufedeom
CeissLL@D Qgreasuie 2%b Qsqiss Cauam@b. sSmeLiy

Ceveysar . JOTWESE:

FLafbCST(HéEF

1,000 yemg. senevliumeriien

s@GSHEmEmW SWMT Qels.
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QurmliL&er €. Qenggsaar .
5,000 gngmyenT LkiGSaT (. Bleoapd
100 efgid ¢5. 80 QegussUs SligL (pLd 80,000
Qupmgl 4,00,000 Qupsno 2,60,000
Bl sligLid Bg Fn&S MmUY 1,05,000
DenemTésL s 1,00,000 sLemeflser 1,00,000
YGenamrudereom sLem 1,90,000 sLenser 40,000
engflenns sL_aibCsmT 10,000 Qprésbd 5,000
@emu prL 1,10,000
5/®
7,00,000 7,00,000

SS Ltd went into liquidation. Its balance sheet as
on 1st April 2006 was as follows :

Liabilities Rs. Assets Rs.
5,000 ordinary Land and
shares of Rs. 100 Buildings 80,000
each Rs. 80 paid 4,00,000 Machinery 2,60,000
Secured loan and Stock 1,05,000
land and buildings  1,00,000 Debtors 1,00,000
Unsecured creditors 1,90,000 Loans 40,000
Preferential Cash 5,000
creditors 10,000 Profit and
Loss a/c 1,10,000
LLaet, _TE900
Assets realised as follows :
Rs.
Land and Buildings 1,20,000
Machinery 40,000
Stock 10,000
Debtors 20,000

Loans are wholly bad. Liquidator remuneration
Rs. 1,000 plus 2% on the amount paid to unsecured
creditors. Liquidation expenses Rs. 1,000. Prepare
liquidator Final statement of Account.
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7144/BP2 OCTOBER 2008

ELECTRONIC COMMERCE

(For those who joined in July 2003 and after)

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

All questions carry equal marks.

(5 x20 =100)

1. Explain the components of I-way and set-top box
in detail.

2. Describe the internet governance hierarchy and
IETF working groups in detail.

3. Discuss the two categories of emerging client-
server security threats with examples.

4. (a) Write about the evolution of payment
systems in briefly.
(b) What are the factors needed to design

electronic payment systems? Explain.

5.  Describe the four types of EDI in detail.

6. Discuss the dimensions of internal eclectronic
commerce systems in briefly.

7.  Explain the information filtering and its types in
detail.
8.  Describe the computer-based education and

training in detail.
9. Discuss the SLIP and PPP in detail.

10. What are the mobile information access devices?
Explain them.
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7145/BP3 OCTOBER 2008

WEB TECHNOLOGIES

(For those who joined in July 2003 and after)
Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

All questions carry equal marks.
(5x 20 =100)

1. (a) Discuss about URL with example.

(b) Write about Business Websites and Tourism
Industry Websites.

2.  What is Internet? Explain any four available
services on Internet in detail.

3.  Describe the TCP/IP and the windows concept in
detail.

4. (a) Whatis bandwidth? Explain.

(b) Discuss the Netscape navigator in detail.

5. Describe the Electronic mail and Online services
in detail.

6.  Discuss about mailing list in detail.

7. What are the different parts in Server Name?
Explain them with example.

8. (a) Describe the clients and server concept in
detail.

(b) How will you get up and run with HTTPD?
Explain.

9. What are the different tags used in paragraph
formatting and character formatting? Discuss with
examples.
10. Explain the following with example:

(a) <IMG> tag

(b) <BASE>tag.
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7137/SC1/BP4 OCTOBER 2008

PRACTICAL COSTING

(For those who joined in July 2003 and after)
Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

All questions carry equal marks.

1. oLsslower samsdlwed eremumE N6THE. @ Hen
WP&HW CHTESBISEMETLD B TLIBISEDETULD 6l6Td @,

Define cost accounting. Explain its objectives and
advantages.

2. ersE @Qouy sLOUUBSHD eauemg upHl  Hellm
Sfleug wrg? @Qser @@ CrrssmsmeTub, @)
(PpennsmeT|d eeTd@s.

What do you understand by Inventory control?
State its objectives and any two methods.

3. dmy ehluy eumrs.
(1) &TETrewT BLL LD,
(<) Geuenav @evevm CrLd.
(&) Qupdly wanfl ldgio.
(FF)  QameTaee oL anL .
(

2) Cuwa Ggwasar.




Write notes on :
Show the stress ledger under simple average

(a) Normal wastage. method and FIFO method.
(b) Idle Time. Units  Price
Rs.
(¢) Machine Hour Rate. April 1 Balanibe 300 2.00
(d) Bin card. " 9  Purchased 200 2.20
(e) Overheads. 5 4 Issued 150
e , ks 6 Purchased 200 2.30
4. Spssam_eupap GCsrer® ereflu s gymal
o : ; . o HA . . 11  Issued 150
popuiigid, gl QuPD PSaid SAGILILFD (PaPUIGID
876 CuGryear gut Qews. 19 Issued 200
. " 22  Purchased 200 2.40
SA@GHET  ellene
’ 27 Issued 150
€.
gure@ 1 @ouy 300 2.00 5. umrs @agdeflufii Hipwd Waeld e puss Colis
" ; : . adpueer QELISETDS). 8p Qsr@ssLLL(Harer clleuyrhigeT
2
Bargase | ogddl ok o6 GHEAND Qs TOESILLGETETaT
"4 auprGse 150 ' €.
"6 Qametapse 200 2.30 <TdU 876G @BUY 75,000
"1l eupRIEse 150 Gy é 86l 52,500
" 19 ayiesd 9200 Wig6y FTESE QHUY 91,500
i wenP&F GFweysar 2,750
22  Qameripse 200 2.40 v
eAHuene 2,11,000
" 27 . .
HPRGHE P iU La pEGaD 28,000
2 7137/SC1/BP4
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Rs.

Quig uenfl enCanhpid ;55’000 Sales 2,11,000
&&emQum(mer QameTapsed 66,000 Work in progress opening 28,000
Aesmfnsreae eurams 15,000 Work in progress closing 35,000
Gswiomend 3.500 Purchase of raw material 66,000
Asmempge Qeeweyser 1,500 Factory Rent 15,000
Qeuafléssgin 2.500 Depreciation 3,500
eflambLid 3,500 - Expenses of purchase 1,500
DADICIDS GUTL a0 2.500 Carriage outward 2,500
allpuenand Qaeeyser 6,500 ; Advertising 3,500
BIOL-0Pig8y 8166 @y 54,000 Office rent a0
Yrel-tpyey AQupp sréE QL 31,000 Selling Expenses 6,500
B QmHs <Lss69mea UL g weSlenar swT Qs ' i Stock finished good opening 54,000
o ffr}::_lr;‘; f?ﬁz‘ﬁ:n% company mangfa ctures and Stock of finished goods closing 31,000
ey g details are obtained from the Prepare cost sheet.
T ;ZS.OOO g & : Q&{T@S&DL{L@G&TW eugrisefld  QmHE
) smflemerisafier gnedlser
Direct wages 52,500 (@) apréCe aperpudgid
Closing stock 91,500 () Crasutsiilon it
Indirect Wages 2,750

(@) anmeGs auwim wpapuiIbd saTsd (Hs.
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Qgmflemafl A B C
Se@wdssiul L Gprb

100 @@@seT 2 Husd Qe

wanil GHyLD 35 40 42
8.6l Q(H ADVGES -2 sugpiBi w4
el CHré gned w7 .8 10

T (H5&160smarT Crrb wearflsafle 50 48 46
° genio 2 HLFHufer erey 200 150 125

From the information given below calculate the
earnings of each employee under :

(a) Halsey Plan
(b) Rowan Plan
(¢) Halsey Weir Plan.
Employees A B C
Time allowed-hours per 100 units 35 40 42

Wages per unit Rs.2 Rs.3 Rs.4
Hourly rate Rs.7 Rs.8 Rs.10
Actual time takes in hours 50 48 46
Actual units produced 200 150 125

6 7137/SC1/BP4

7. &Gy Qsr@sgiemer deurriseies QMmbS) ChH@Ee|sET
uad® Qswus.

o HUSH SlEPDEET G&Gmeugf)
SIS
A B C 4 Q
QUITLENG 2400 4800 2000 2000 800
O\esrgmyiLd 800 2000 500 400 300
LEOD(PEE Qsaeyser 1200 2000 1000 800 1,000

2500 1,600 200 500 200
300 300

@QuipST Gguiomend
ooy Qeawa ser 910 2143 843
GTEIUMTESUIULL
miaﬂ@fr_r;mb _ waflgar 1000 2500 1400 - ik
Gasepau  geopuilem P wompd Q Gmrj)@&c?uma'aéﬂ
EpsaeTLeunn 2 HUSS HDDEEHES Qf&siuL CouamHiD
A B C i Q
P 30% 40% 20% - 10%
Q 10% 20% 50% 20% -

You are required to show .the overhead
apportionment for the following information. .
Production Service
Departments Departments
A B C P Q
Rent 2400 4800 2000 2000 800
Electricity 800 2000 500 400 300
7 7137/SC1/BP4



Production Service
Departments Departments
A B C P Q
Indirect Labour 1200 2000 1000 800 1.000
Depreciation on :
Machinery 2,500 1,600 200 500 200
Sundries 910 2143 843 300 300
Estimated

working hours 1000 2500 1400

Expenses of service D
I epartment “
apportioned as under : 9 at R and iate

P 30% 40% 209 - 10%
Q 10% 20% 50% 209 @ - )
8. unisg Csmflevsssen uglGeu@safieh Qmbgl

QupLLCL elurmsale Qupg shsec

S Qeuws.

LIRS G5 mflassder eShwumuimy ey s SMTE (G —
31, wmig 2007.
€.

. . . ®‘
&MU Quingmer 27,40,000 o9puenar
Sa6ll 15,10,000 120000 SVGSET 60,00,000
Qsmflnamene P36y 876G :
Qeaayser 8,30,000 (4000 I GseT) 1,60,000
8 7137/SC1/BP4

- -
3,83,000 uef werGarmmid
4,50,000 s&srui@Qummer 64,000

Hireunss Qseayser

fpuemens QFewe ser

Qsm_&8& Deweyser &a6dl 36,000
pasiuLg) 40,000 uiienp
BHG@LIWIT Qeeweysar 20000  1,20,000
BasiLLg) 20,000 umig ey 18,000
Hlar emub 3,25,000
62,98,000 62,98,000
(o) Gsmfhul e Qe serT, (PSEENLD

Qeaveysafier 20% erarm gIssLILGS DE.
4 (=) 2pusd CeLwiullL HOGSERSE Hieunss
QFaey SOE RETNISS) H. 3 @GISSUILIHS D).
(@) eShuemen Qe . 4 (DM QUTHETHEHES))-

:  From the following information of Pankaj
industries prepare reconciliation statement.

Trading and P and L a/c of Pankaj Industries —
31, March 2007.

Rs. Rs.

To Materials 27,40,000 By Sales 120000 units  60,00,000
" Wages 15,10,000 " Finished goods
" Factory Expenses  8,30,000 (4000 units) 1,60,000
" Administration " Work in progress

expenses 3,83,000 Materials 64,000
" Selling Expenses  4,50,000 Wages 36,000
" Preliminary Factory

expenses written Expenses20,000

off 40,000 1,20,000
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Rs. Rs.
" Goodwill written Dividend Received 18,000
off 20,000
" Net profit 3,25,000
62,98,000 62,98,000

(a) The factory expenses have been allocated to
production @ 20% on prime cost.

(b) Administration expenses @ Rs. 3 per unit
produced.
(¢) Selling expenses @ Rs. 4 per unit sold.

9. @m Quume 2 Husd Qeww  epeTm) umrﬁmevase%)m
A, B, C 568 GouamiqujeTarg).

uig Hleneoulley FHUBD @LpUILSET A—9é 2%, B—ulled
5%. C—9é 10% ughom® A LOHMD B e epuwd
Quuyser, 100 SIOGSET eHUML S A @Slg')a;uu@é;]eing)g
ugflee C—ule gpuB @uiiyser 100 SQEs6T . 20
Nf s ellhuener Qeiwtiu®h&eTmg). s
ugHlena C

ugHlevew A U Hleva B
€. (. €.
s&emUCUmmeT 6,000 4,000 2,000
g6l 8,000 6,000 3,000
2 HUGH DFa sar 1,000 1,000 1,500
2 HuSH 2ieTe] 19500 18800 16000
S| OGHSET SO GHSET |G
uigHlenaw Ao 20,000 SOGSET

SPPsLLOSSILLDETATE]. SISET ALES eflenev em. 10000.
@eupdeSmHal LgHlee saéms st QaiwayLd.
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A product passes through three process A, B and
C. The loss in each process are A - 2%, B — 5%, -
C — 10%. The loss of processes A and B is sold at Rs. 5
per 100 units, C is sold at Rs. 20 per 100 units.

Process A  Process B  ProcessC
Materials 6,000 4,000 2,000
Labour 8,000 6,000 3,000
Manufacturing
Expenses 1,000 1,000 1,500
Output 19500 18800 16000
units units units

20000 units were introduéed in Process A at a cost
of Rs. 10,000. Prepare Process Account and other

necessary accounts.

10. (=) &Gy Qsr(Hé&suuL(HeTer Aeurmseiies QHHS!
Quibgr el 9 gD SIS,

£,

sefufen 1L sseliona 19,200

erdl &y 1,200

Upg! LHDID ugmofiy Geeey

LOTHLD 150

HesQgae &aT LOTSLD 50

Qubdy | STD wenfl CHTD 10,000
Loewtl& 6T

R LTSS &(med waenfl CHILD 200 wenflser

s LuaLr® en wall CorsdnE 5 W
g@@g,dﬂ R 3@, 18 erusT.
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(<)) Qarerpged ésem ema| sar(Hidliy.
Qyenr(hu Lwerur(hser — 8000 e @ser
QRN YT QUMRIEGLD SHL&GSHD — (. 7
G eemmlen euenew — 30 enLiF.
UTL& &TUL WLOHMIL gisE awelser, Fpmaf
gr5dled 15%.
(a) Calculate machine hour rate from the
following information :

Rs.
Cost of the machine 19,200
Estimated scrap value 1,200
Repair and maintenance
per month 150 °
Standing charges per
month 50
Effective working life of the
machine 10,000 hours
Running time per month 200 hrs

Power used 5 units at 18 paise per unit.
(b) Calculate EOQ from the following

information :

Annual consumption 8000 units

Buying cost per order Rs. 7

Cost per unit of material Re. 0.30.

Storage and carrying cost 15% of average
inventory.

12 7137/SC1/BP4




7138/SC2/BP5 OCTOBER 2008

MANAGEMENT ACCOUNTING

(For those who joined in July 2003 and after)

Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks.

1. Coerameaw sawsdwue updl BelT oifleug wrg?
2561 CHIESEISET WOHMID GeDUT(HSET WTeneu?

What do you understand by Management
Accounting? What are its objectives and limitations?

2. #Hdbflow obsms uEssSTITUSH  (WPoDS@ET
eflerd@s.

Explain the methods of financial statement
analysis.

3. Ceaugunr® erempred erenan? CLOTETDDEE DG
Wa&Ewusgeusas GO HS.

What is variance? Indicate its significance to the
Management.




4. Spssam soauasallallpig  Qrrss BLOT L Prepare a cash flow statement from the following

SiMsmsmw sWTTOsiis. data:
31.12.2001 31.12.2002 » 31.12.2001 31.12.2002
€. €. Rs. Rs.
Qprésid 2,000 2,500 Cash 2,000 2,500
QumsHGTIW wrHHES R 2,400 2,700 Bills receivable 2,400 2,700
&r&slmLy 3,100 3,200 | Inventories 3,100 3,200
Q87 pLliLE Qsngg 800 700 Other current assets 800 700
Hevas Qsrggéee 5,000 5800 | Fixed assets 5,000 5,800
Gsuwiorend Gsipss) 2.100 2,500 Accumulated depreciation 2,100 2,500
Qequssn@AL LrpnEs @ 2,000 2,100 Bills payable 2,000 2,100
o it o 1,400 1,300 Long-term debt 1,400 1,300
Cri y s * Equity share capital 5,000 5,300
DTG LIBIGUPS 5,000 5,300
. ] Profit and Loss a/c 2,800 3,700
Gomu-plL &/ 2,800 3,700
Aero. Notes :
GO &6 :

; - (a) Fixed assets costing Rs. 1,200 were
(=) - 1,200 @isseflovauerar Blevas Qenégisaear  purchased for cash.
Qyréssdd QUTRISLILILL g ; i e
(b) Fixed assets (original cost Rs. 400,
() Hoes Qergs (o amewvure eSae . 400, accumulated depreciation Rs. 150) were sold for Rs. 200.

uionand Goipsgl @. 150) m. 2006@ eflpsliul L g (¢) Depreciation for the year 2002 amounted to
(&) 2002241 <y ariq 6ir GaWinmend em. 550 Rs. 550.

() 2002940 yeriq6d URISTSMLL 5. 300 (d) Dividend paid amounted to Rs. 300 in 2002.

QegigsliulLg). (e) Reported income for 2002 was Rs. 1,200.
(22) 2002<4d qimg.eir cupLOmaTD ep. 1200.
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5. 2005 gewbum 3leybd preverw @@Ly Hleas@nliy

Yemmeu(mLommy :
Qumrmliygser €.

Critenid LkIGUPS® 2,00,000 Qumd

10% @engyiflento

BTN

20% sLafi( usHnd

Qeru-plL &/@

Ui sL_abr
(B smeoid) 50,000
UpLe sLafECs 1,00,000
Qe@is55nE M
) 50,000
7,00,000
sasEl (DS

(=) pLruy edélsbd

(<) 2 fenwwmert aldlgb

(@) ym sl Qurniiiy eSdlgb
()  Blenews Qensg eldlsi.

4

1,00,000 upue sLameflsar

1,00,000 Qyrésbd

Qenggsaer €.

2,00,000

e wpmid sy 2,00,000
1,00,000 sradmuy

1,50,000
50,000
1,00,000

7,00,000

7138/SC2/BP5

Following is the Balance Sheet as on
31st December 2005 :

Liabilities Rs. Assets Rs.
Equity share capital 2,00,000 Machinery 2,00,000

10% preference share

capital 1,00,000
20% Debentures 1,00,000
Profit and Loss a/c 1,00,000
Baﬁk loan (long-term) 50,000
Sundry creditors 1,00,000
Bills payable 50,000

7,00,000
t Calculate :

(a) Current Ratio.

(b) Proprietary Ratio.

(¢) Debt-Equity Ratio.

(d)

Fixed Assets Ratio.

Land and Building 2,00,000

Stock 1,50,000
Sundry debtors 50,000
Cash 1,00,000
7,00,000

7138/SC2/BP5



6. Epsaa elleuriisailelmbg samsd (s : 7. QumBET eréav-e Srésmemael ameuHLOm :
(=) umselly e9dsib epe@ummer 6 : 30 DGser . 2 el

() Goom-plLopp Hewiyds el : 70 sagsd o S

&7 Bl — 10% 2 eraf(p

(@) urmgisTiy ugd

O_GTEN LOWITEN SE0EN 6L

S 3,6@(5).,000 epLIQUmmET 6 : 34 @GS ¢h. 2 6IFID
2@ Siadar efpLiamar eflena 100 epeliQurmer 19 : 66 Sie@Gaser . 3 eig
R Sieden wrmib efana 50 o @wrenlowimer pLL b — 15% 2 dref()
Hloas Asaay 1,00,000 TS [H :
() odpuemer edewe . 0ous @GeDHGLILLL T, (1) ppelGurmer i sseilama GCoumum(
GPDESULILL UTESTUY LGS ereueuene,? (<) epeluurmer ellene GCeumgiun(y
From the following information calculate : (@) epeuQurmer Lwerur® GCeumum®
(a) P/V ratio. — ' () epeouQumrmer sweame Caumum®
(b) Break-even point. (22) epouGur@Gmer 2 Huss Caupur(®

(¢c) Margin of safety. The standard mix of a product X is shown below :

Rs. Raw material A : 30 units @ Rs. 2 each.
Total sales 3,60,000 Raw material B : 70 units @ Rs. 3 each.
Selling price per unit 100 Standard loss is 10% of input.
Variable cost per unit 50 Actual mix :
Fixed cost 1,00,000 Raw material A 34 units @ Rs. 2 each.
(d) If the selling price is reduced to Rs. 90, by Raw material B 66 units @ Rs. 3 each.
how much is the margin of safety reduced? Actual loss is 15% of input.

6 7138/SC2/BP5 7 7138/SC2/BP5




Calculate : s(Hge elleurmser :

(a) Material cost variance. (1) feod wOmL slgL der Bg e 1,500
i Gawirend CursbapslulLg).

(b) Material price variance. e s RO,
(¢) Material usage variance. - T

(d) Material mix variance. From the following Balance Sheet of Rolson Ltd,
prepare a fund flow statement :

(e) Material yield variance. Liabilities  31.3.2005 31.3.2006 Assets 31.3.2005 31.3.2006

) £0 b Gouybews Rs. Rs. Rs. Rs.
3 > LD ool ST
8. Gyrosen Hposd PETED s _ Equity share Cash 3,750 5,250
e ®mba HE pLoTL Siflsmaamu ST Gels. capital 30,000 37,500 Stock 11,250 12,000
Qurpiusssr  31.3.2005 31.3.2006 Qenggiésdt 31.3.2005 31.3.2006 Redeemable Bills
. ! preference receivable 5,250 750
- G- 0, share capital 15,000 12,000 Land and
Gpirento Qrésid 3,750 5,250, General reserve 4,500 5,250 Building 22,500 33,000
LR EWED 30,000 37,500 svsfpiy 11,250 12,000 Profit & Lossa/e 3,750 5,250 Goodwill 9,000 17,500
Bend QumsHEiw \ ‘Sundry creditors 9,000 12,000 Debtors 13,500 15,000
gy fenn wrhm ELG 5,250 750 Expenses
U @B 15,000 12,000 Hlad whmd outstanding 3,000 1,500
QuigissTiLY 4500 5,250 sl 22,500 33,000 65,250 73,500 65,250 73,500
: baLdi 500 ook .
Qomu-plL 5/@ 3,750 5,250 pp@uwi gl Additional Information:

) i f 000 sLamaflsar 13,500 15,000 be, .
A ke T (a) Depreciation of Rs. 1,500 is charged on land

Qe and buildings.
i::m?m 3,000 1,500 \ (b) Building amounting to Rs. 3,000 was sold for
65,250 73,500 65,250 73,500 Rs. 2,820.
8 7138/SC2/BP5 ' 9 7138/SC2/BP5



9. Epssa eleurhiselal(Bhg @mLUyBmosEHlmu

» st Qews
Qurgs @erud — en. 80,000

&fpm Qurmefear iLsselame g QwIss Qamun —

1/3

y&EmUY &PnE — 6 werm

Qsm_&& sradmuy — ep. 36,000

sLamaflgar Ceausd (yewrignH@ 360 Briser) L
72 BITL_&eiT

B Qergg) ep. 1,50,000

sLaBCsT Cousd — 90 pr_sar
QuuispETw wLrHMFSH . 20,000
Qeausgisn@w wromes H — em. 5,000
Blanaws Qersg spnél elldlgn — 8 de)g)
spnd  eerug  edlbm

Gy Gumrmefler

SiLsseilamaamu GN&ELD.

10 7138/SC2/BP5

From the following information prepare a Balance
Sheet :

Gross profit — Rs. 80,000

Gross profit to cost of goods sold — 1/3

Stock turnover — 6 times

Opening stock — Rs. 36,000

Debtors velocity (Year 360 days) — 72 days

Current assets — Rs. 1,50,000

Creditors velocity — 90 days

Bills receivable — Rs. 20,000

Bills payable — Rs. 5,000

Fixed assets turnover ratio — 8 times

Notes : Turnover refers to cost of sales.
10. Qamsl fpeuagder 2 pusd Qeuwn ‘Cs’  eremm
Qum@eflen efleud WemeuHLOTD :

elpuenar em. 70,000 Coiryg epati@ummer em. 30,000;
Corg eepiy e 15000; wmyb wopwss: Cewey
gh. 7,000; flewew CupGeewey ep. 10,000. ‘eréd’  erenm
Aur@ener LHwsrs QeuallldL S B Héterant Digeamme

dlpuewen ep. 30,0006@ fslsEn. Hows CQeway
sbgorerg. ‘e’ GQumrmerer o pusd Cslw  YED
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b Ceweyser epalibummer p. 15000 2 ey em.
. 7,000 GCupn@swey em. 5500 ‘ere’ ey Gummener
Qeuafill(Deug QOTUESTLIMST DD @OMOWT GTATLINS

5@&6HS NeTsasgIL 6 HCOTFMET GULPHEISE,LD.

The following data are available in respect of
product ‘K’ produced by Venkat Ltd. Sales Rs. 70,000;
Direct material Rs. 30,000; Direct labour Rs. 15,000;
Variable overheads Rs. 7,000; Fixed overheads
Rs. 10,000. The company now proposes to introduce a
new product ‘L’ so that sales may be increased by
Rs. 30,000. There will be no increase in fixed costs. The
estimated variable cost of product ‘L’ are :

Materials Rs. 15,000; Labour Rs. 7,000; Overhead
Rs. 5,500. Advice whether the product L will be
profitable or not with detailed workings. '
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7139/SC3/BP6

HUMAN RESOURCE DEVELOPMENT

OCTOBER 2008

(For those who joined in July 2003 and after)

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.
All questions carry equal marks.

1.  wafs euer Cuburigear udCaun s&geumsmaTLs UMM
allaTs @s.

Explain the different concepts of Human
Resources development.
2. @psdwureie walls euer Cuwburigeamer Speoo
2 GTETSHME &GUSDETET auLilpenDEEmET 65l6md@s.
Explain the measures to make Human Resource
development in India more effective.
3. uafllurariganer Carggaisaran cuflpannasamar afleur.
Describe the sources of Recruitment.
4. weafls 58l Comeuseailen crawr smipg sl (Huum(
SjeTeneusener elleumd).

Discuss the measures to control quantitative
manpower requirements.

5. uefl giellen Cprasmsmen elleréEs.
Explain the objectives of Job analysis.

6. ulpduler eufl peppsamar afleur.

Describe the process of Tranining.

7 @m B umiorpps Qarareansular Csameusaer

Describe the essentials of a good transfer policy.

8. gumr@aeier (psiusgiausms ellersEs.

Explain the importance of morale.

9. wrevCarefen Hewarss GCar_umyenar eflaréEs.

Explain maslow’s theory on motivation.

10. wafls euer Cuaramewuie sl (Hlu  Cursder
umidlenar efleurdl.

Discuss the role of collective bargaining in human
resource management.
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7140/SC4/BP7

ORGANISATIONAL BEHAVIOUR

OCTOBER 2008

(For those who joined in July 2003 and after)

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

All questions carry equal marks.

1. @uwsseflar uanilgeamer elleunsl.

Discuss the functions of Groups.
2. UTUETEESOE  BAIE@WEGET  WWOHMILD  SEOLDSEET
clleTs G s.

Explain the merits and demerits of
Decentralisation.

3. afles (Qrrameu) ey @penpullen merenoseT
LOMLD SeoEMeT 696TéEs.

Describe the merits and demerits of
Line Organisation.

4.  flsrgsden Cam_urhHamer ellersEs.

Explain the various theories on Authority.

5. eaflugemsls undéEn sryeilsmer aleul.

Describe the factors influencing Remuneration.

6. flamy & @uueL Lber Garaenssman ellarsEs.
Explain the principles of Delegation.

7. fraurgsder GAsmfeorert umkGspumss sTESD

Qe sryenilger wrameu? elersEs.

What are the factors that influence worker’s
participation in management? Explain.

8. &msg Caupuriiger Quelear el

Describe the nature of Conflicts.

9. @wluyssaid gouID
SrrenThSamer adleur.

OIS 60 (ETH& & M6t

Describe the reasons for change in Organistions.

10. @oD STEEW Wpepullen Barewsamar 6lleTs@s.

Explain the advantages of a grievance redressal
procedure.
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